Medicare Advantage and Prescription Drug Plan
(MA & PDP) CAHPS® Survey

2024 Medicare Advantage Plan Survey CATI Script

<INTRO1-OUT IS FOR OUTBOUND CALLS. THE PURPOSE OF THE INTRO1-OUT SCREEN IS
TO PROTECT THE PRIVACY OF THE SAMPLED MEMBER. THE INTERVIEWER DOES NOT
PROVIDE DETAILS ABOUT THE SURVEY UNTIL HE/SHE IS SPEAKING WITH THE SAMPLED
RESPONDENT. AT NO POINT DOES THE INTERVIEWER MENTION WHAT HEALTH PLAN
THE SAMPLED RESPONDENT IS A MEMBER OF TO ANYONE OTHER THAN THE SAMPLED
MEMBER. IN ADDITION, NO MESSAGES ARE TO BE LEFT ON AN ANSWERING MACHINE
OR VOICE MAIL.>

[INTRO1-OUT]
OHASIN 2, [SAMPLED ENROLLEE’S NAME]H 1t S3t8 4= U277

1 YES > [GO TO INTRO 2-OUT]
2 NO, NOT AVAILABLE RIGHTNOW =  [SET CALLBACK]
3 NO [REFUSAL] 5> [GO TO TERMINATE SCREEN]

<MENTALLY/PHYSICALLY INCAPABLE = [GO TO INTRO3]

IF IT BECOMES CLEAR THAT THE ENROLLEE CANNOT COMPLETE THE
TELEPHONE INTERVIEW HIMSELF/HERSELF (FOR EXAMPLE, IF HE/SHE
IS HARD OF HEARING, HAS A SPEECH IMPEDIMENT, OR IS TOO ILL OR
FRAIL TO DO THE INTERVIEW), OR REQUIRES ASSISTANCE IN
COMPLETING THE INTERVIEW, ONLY THE ENROLLEE CAN GIVE
PERMISSION FOR A PROXY TO COMPLETE THE SURVEY. [GO TO
INTRO3]>

<|IF ASKED WHO IS CALLING:>

<IF NOT SPEAKING TO THE RESPONDENT>
%= [SURVEY VENDOR NAME]2| [INTERVIEWER NAME] Q! L|C}.

[ENROLLEE’'S NAME] &1t 2| & A{H|A ARG £t5H O|OF7| & Li+=11 & &LICE

<IF SPEAKING TO THE RESPONDENT [GO TO INTRO2-OUT]>

<INTRO1-IN IS FOR INBOUND CALLS. AS WITH INTRO1-OUT, THE PURPOSE OF THE
INTRO1-IN SCREEN IS TO PROTECT THE PRIVACY OF THE SAMPLED MEMBER. THE
INTERVIEWER DOES NOT PROVIDE DETAILS ABOUT THE SURVEY UNTIL HE/SHE IS
SPEAKING WITH THE SAMPLED RESPONDENT. AT NO POINT DOES THE INTERVIEWER
MENTION WHAT HEALTH PLAN THE SAMPLED RESPONDENT IS A MEMBER OF TO
ANYONE OTHER THAN THE SAMPLED MEMBER.>



[INTRO1-IN]

Ot 35HA| 2, [SAMPLED ENROLLEE’S NAME]E | & L|77k?

1 YES >  [GO TO INTRO 2-IN]

2 NO, NOT AVAILABLE RIGHT NOW 2  [SET CALLBACK]

3 NO [REFUSAL] >  [GO TO TERMINATE SCREEN]
[INTRO2-OUT]

OtFSIN 2, X= [HEALTH PLAN NAME]R} Medicare % Medicaid A{H|A

[INTRO2-IN]

MIE{(Centers for Medicare and Medicaid Services, == CMS)E CHMTHY
AErE2|&= [INTERVIEWER NAME](O)2t ShL|CH FSPHA 210 H A= o=
MH| A0 2t AEZ A0 HOE QFSHUA} Mot EFSLCH #ote det2

Totel & S Ul Medicare S A S0[A CMS 7t F21¢(=2 5t ASL T

Yof SOl MH|A BES A E =719 £H9

= AEZAE 4 2 MY
UL AL|Ct O] A ADb= [HEALTH PLAN NAME] % Medicare 7t XM&3t=
MH|A o =80 & AU QAEFE 25 H20| EEELD HA=

MO, H3te| o2 MH|A EE Medicare d|E{0| FekE2 O|X|X| QLLLICE,
Ol 2= 152 [ORVENDOR SPECIFY] & ZEL|C} O] E3ILE22 MH|A EF

St FHoZ DL HEY & 53E = USLICEH <NOTE: THE NUMBER OF

MINUTES WILL DEPEND ON WHETHER SUPPLEMENTAL QUESTIONS ARE
INTEGRATED WITH MA & PDP CAHPS SURVEY SPECIFIC QUESTIONS.>

| 0|22 [INTERVIEWER NAME] L|Ct. [HEALTH PLAN NAME]2HTH) Medicare
5! Medicaid AH|A dIE{(Centers for Medicare and Medicaid Services, ==
CMS)= TSHHAM = 2ol MH|A0 st HZZAN| HOFA|IZIE
HEtE 2IL|CE F3tel Mete 3te| 4L Z3 L Medicare SEXF S0 A CMS 7}
=
=

2 MHESIU S L CL

= d2XAte dd 2 Yo FMOl MH|A FEEE ZASH = 27HH =H9
Q= ol [HEALTH PLAN NAME] % Medicare 7t X &dt=
2 Mo ==20| 2 AYLCH QAHFE tHSHA H[EOo| EFELD FHA=
AHrAo|H, 52| o|Z MH|A £ Medicare d|EH0| FebS O|X|X| L&L|CE.
OlE{ 5= 152 [ORVENDOR SPECIFY] & ZEL|C}. O] E3ILE22 MH|A EF
St EXMoz BLEE Ees =28 4 YUSL|CH <NOTE: THE NUMBER

2



OF MINUTES WILL DEPEND ON WHETHER SUPPLEMENTAL QUESTIONS ARE
INTEGRATED WITH MA & PDP CAHPS SURVEY SPECIFIC QUESTIONS.>

<AFTER INTRO2-OUT and INTRO2-IN
[GO TO Q1] OR
(READ OPTIONAL QUESTION) OR

IF SPEAKING TO THE ENROLLEE AND IT APPEARS THE ENROLLEE MAY
NEED HELP [GO TO INTROS3 — Request for Proxy]>

(OPTIONAL QUESTION)
SN 2 dEZXAM0| #2510 335k "ol /UL 2

AN H

1 YES > <REFER TO FAQs>

2 NO > [GO TO Q1]

3 NO, DOESN'T WANT TO PARTICIPATE [REFUSAL]
> [GO TO TERMINATE SCREEN]

[INTRO3 — Request for Proxy]
o ™3t Q

>-I
|r

2 eSS & of= o
Heps| EstAl 2 910{0F LTt

<THE INTERVIEWER MUST OBTAIN THE ENROLLEE’'S PERMISSION TO
HAVE A PROXY RESPONDENT ASSIST HIM/HER IN THE CATI INTERVIEW. IF
THE INTERVIEWER IS UNABLE TO SPEAK TO THE ENROLLEE DIRECTLY IN

ORDER TO OBTAIN PERMISSION AND IDENTIFY A PROXY RESPONDENT,
DO NOT PROCEED WITH THE INTERVIEW.> [GO TO INTRO3 Q1]

[INTRO3 Q1]
e FE 5L ok Cidl QI &

M

off =& 2Ol ALt

1 of  =I[GOTOINTRO3Q2|

2 OfL| 2 > <THANK THE RESPONDENT AND TERMINATE THE
INTERVIEW>



[INTRO3 Q2]
ot oAl D21 Mot QIR E

not

P AEE o7l FAI S L2

1 o > [GO TO INTRO3 Q3] OR [GO TO PROXY_INTRO 1]
2 OtL|2 - <THANK THE RESPONDENT AND TERMINATE THE
INTERVIEW>

[INTRO3 Q3] X|=& 121t 827t 7ts& LIt

1 of > [GO TO PROXY INTRO 1]

2 otL|2 2 <COLLECT NAME AND TELEPHONE NUMBER OF
PROXY AND SET A CALLBACK, OR IF NO PROXY
EXISTS, [GO TO Q_END]. IF ENROLLEE RESIDES IN AN

INSTITUTION CODE AS INSTITUTIONALIZED;
OTHERWISE CODE AS MENTALLY/PHYSICALLY

INCAPABLE>

[PROXY_INTRO 1]
OLESIM R, X= [HEALTH PLAN NAME]2} Medicare 3 Medicaid A{H|A
ME{(Centers for Medicare and Medicaid Services, == CMS)E L4115+
M3tE 2= [INTERVIEWER NAME](O|)2t 8L C}. Medicare 7HUXL7t = o=
MH[A0f 2o oF 2l MoLEFELICH CMS = [SAMPLED MEMBER NAME]

Hof| S 23+ Medicare $=8|XF S0 A £22|2 [SAMPLED
MEMBER NAME]H 2 ﬁ’éﬂ&“%tﬂ, 22 HEPHM A2 oA 2 AL
HHSIL & 5{Itot S L o

Lol 4z 9l Kjetor =

Irut

[SAMPLED MEMBER NAME] H2 At&H™ o= dEZXZ A0 &odt= A0|0, &
o2& 00| 2HoA[=2|& MH|A &= & EHof| 2 O|X|X| Y& LICH IR =
152 [OR VENDOR SPECIFY] H= ZZL|CL O] E3}HES MHA EX St
SHMo2 DL HYE E= 532 5 AUELICEH <NOTE: THE NUMBER OF MINUTES

WILL DEPEND ON WHETHER SUPPLEMENTAL QUESTIONS ARE
INTEGRATED WITH MA & PDP CAHPS SURVEY SPECIFIC QUESTIONS.>

[PROXY_INTRO 2]

2 A0 Eoh2 W, AES CHAot0] EEote A2 G50 71 22 48
SO 2ot dHE HAoH0 ZE R0 MEFHAR 222 de E=FES
HHE 2= E#SHA| DAl

[INTERVIEWER: = GO TO Q1]
4



CALL BACK TO RESUME A SURVEY

RESUME1

RESUME2

MONITOR

OHFSIN 2, [ENROLLEE NAME] 1t E3tgt = AS7tR2

(IF NEEDED:) X = Medicare 3 Medicaid AH|A dIE{(Centers for Medicare and
Medicaid Services, == CMS)E Ci4I5t0] [ENROLLEE NAME] Eit QIEFE
St MetER S L O

1 YES [GO TO RESUMEZ2]
2 NO, CALL BACK [SET CALLBACK]
3  REFUSAL [GO TO TERMINATE SCREEN]

XM+ [HEALTH PLAN NAME]2H2}) Medicare 3 Medicaid AH|A M E{(Centers for
Medicare and Medicaid Services, = CMS)E C{ASI H3lEE|=
[INTERVIEWER NAME](O[)2t1 gL|Ct X7t X|= [ENROLLEE NAME] E 1t
S2t5t= Al &L

Me HSPHM 2 AA= ol& MH[A0 ot QHFE O 2t=5i2{d
HM3}E S L|CH [RESUME SURVEY WHERE PREVIOUSLY LEFT OFF].
AEESEZ|0f A O] B3t &2 MH|A B2 T FHeE BLHE £ 532
+ g ¥ YU

<START INTERVIEW>



Q1 N3] 7|20 =™ 2023 H F8t2| o|F MH|A = [HEALTH PLAN NAME]2t= Z2H0|

HESIRAELICEH RS L?

(READ RESPONSE OPTIONS ONLY IF NECESSARY)
1 of [GO TO Q3]

2 ofe [GO TO Q2]

98  <DON'T KNOW> [GO TO Q2]
99  <REFUSED> [GO TO Q2]
M [MISSING]

Q2 2023 'H0| HSHHA AtESHA AL E 0
S ZTo| [HE A S HIY O Z HHG FMAR.
<ENTER PLAN NAME>

AYU? LA dEZALE

40

88  [NOT APPLICABLE]
98  <DON'T KNOW>
99  <REFUSED>

M [MISSING]

[PROGRAMMING SPECIFICATIONS:

e |IF Q2 IS ASSIGNED ANSWER “98 — DON'T KNOW” OR “99 — REFUSED” THE
INTRO TEXT BEFORE Q3 SHOULD READ:

O[ K| K|k 6 72t HOHHA AL SHAl O] = A A0 Zrohol ZEE2| A& LTt 2023 H0j
JHSHA BT 22| Y, ST, HABRCIA M| AS WS TS 4 +6+D:| weol
SHASIRHAIR. FSAA PO Ei ML Y4 5312 o
EHANFYAIL,
e FORALL OTHERS, INTRO TEXT BEFORE Q3 SHOULD READ:
Of | X|k 6 Y7 PN BN o2 Mb|2ot B2l ST, HHOIH YA
MH|AS 2Ol S140] Rot0] B2 2|20 BLICE SN (B2 EiE

= 'c;
Mol FA Btz 2o M o7 MH|AS ZEIFAMA|Q ]

r

|r

Q3 Xte/HEZt A TEE Lo Mor HE HH 2o = SM7F JA/RS LI
(READ RESPONSE OPTIONS ONLY IF NECESSARY)
1 o
2 oL [GO TO Q5]

98  <DONTKNOW> [GO TO Q5]
99  <REFUSED> [GO TO Q5]
M [MISSING]



NE gotA Tz 2oy I H2 T2 S RO NE XO| SofLt A3

88  [NOT APPLICABLE]
98  <DON'T KNOW>
99  <REFUSED>

M [MISSING]

ALt 67 Y HOR Ei MLt B S512 H7| AT e A4 T
50| YLt

(READ RESPONSE OPTIONS ONLY IF NECESSARY)

1

2 Sj: L2 [GO TO Q7]

98 <DON'T KNOW> [GO TO Q71

99 <REFUSED> [GO TO Q7]

M [MISSING]

ANteZid7t B7| A7 E= G4E0 Te7F Hed I o2 |Sk= A[7Ho of
Mol HotLt Xt JAUSLIN? 2 & SHLHE MEIS] FHAR
1 M5 22,

2 718,

3 2=,

4 oY

88 [NOT APPLICABLE]
98 <DON'T KNOW>
99 <REFUSED>

M [MISSING]



X6t a0 2 2H=E M5t o|lg ME|AE fHRZE &= Mot S
stz B H HOMSLIN? LS T StLE MEISH FHA|L.
0 =) [GO TO Q9]

1 ot tH

2 =

3 N H

4 | 4

5 CHA B0 M OfZ

6 g oy

98 <DON'T KNOW> [GO TO Q9]

99 <REFUSED> [GO TO Q9]

M [MISSING]

CHZ| AlZh2 CHZ| 2 ar HBARREOIA ZICHEL AlZhs ZebetL(h X e 7 &2 off of
AMZte 22 H 15 % O|Uof T = ofefet Atd S 24 Hof EofLt Ak A/RS LI CH=S
S OtLIE MES A L.

Hol Bls,

7t&,

f

s

=]
o,

2w N -
[
0x I

oot

88  [NOT APPLICABLE]
98  <DON'T KNOW>
99  <REFUSED>

M [MISSING]



Q9. 2XH0OIA 103 /22| o2 MH|A7}0, A|10| o|2 MH|AT}10 0|2+, K|t 6 727t

o mE o| MH|AO FHE FAIASLIIN
(READ RESPONSE OPTIONS ONLY IF NECESSARY)

x|oto| o8 AMH|A

0-
1
2
3
4
5
6
.
8
9

10 - X[110] o|= MH|A

98 <DON'T KNOW>
99 <REFUSED>
M [MISSING]

67H 0J7|. -_|-|-|O|-77'|| J.L|_9_ Xl_lﬂ ?:'||A|' ct X|E% 4;‘!7'” t.’:I'QtI &!Ol %Dl'l—l' Xl'ZIS

Q10 X[t , =
QLI CHE B SILIE MeEs] FAAlL.

O
A

= o
M5 93,

98  <DON'T KNOW>
99  <REFUSED>
M [MISSING]



OX| Fotel =X|2lof &stof B=E| S LI
Q11 FX[o|= ZTIo| ERstALE Ay ZHof Chet =212 0 oS Iff, OfZ ALt i S M
SEO= QAR LT FX[Q|7F [ M L7t?

(PROBE IF NEEDED: “H3PH A Ot AL} AT E= ZAO| Hed I F=
HASISIA|= o HO| QAL AUS LTI

(READ RESPONSE OPTIONS ONLY IF NECESSARY)

1 o

2 otL| 2 [GO TO Q27]
98 <DONTKNOW> [GO TO Q27]
99  <REFUSED> [GO TO Q27]
M [MISSING]

Q12 X[te/fEt H2E E= Mot Qo S22 AZ30| 2ol =X H H
SEOHAS LI 2 & StLE MBS FHAIL
0 oo [GO TO Q27]

1 of tH

2 £

3 N H

4 |

S CHA EHO|AM OfF H
6 oy

88  [NOT APPLICABLE]
98  <DON'TKNOW> [GO TO Q27]
99  <REFUSED> [GO TO Q27]

M [MISSING]

10



Q13 X6 Et X127} Olaot7| g §2& &Fet HO| HotLf X3 [AAS L2

CHE & StLE MEISH FHA| 2.
1 M5 232,

2 7|-IZI,

3 &2,

4 et

88  [NOT APPLICABLE]
98  <DON'T KNOW>
99  <REFUSED>

M [MISSING]

Qt4  Rle 4T FAIQT kol LS H 7120 S2 X0| Yot AF AYE L2
CHe B SILEE MeEs) FUAIQ,

= o
He glg,

t&

=
,

A WO DN -
[
=

oot
0z 4r oK

88  [NOT APPLICABLE]
98  <DON'T KNOW>
99  <REFUSED>

M [MISSING]

Q15 XI'-F 6717t X127 F5tef 2| A0 ESS &S HO| HOtLE Xt AJSHI? HE S

—

== o
™S SIE,

7t8,

=
,

A WO DN -
[
==

oot
0r HI

88  [NOT APPLICABLE]
98  <DON'T KNOW>
99  <REFUSED>

M [MISSING]
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Q16 Xlte /L FX|o|7t AlZtE SE°8 =9 7

Q17

CtES & SILIE MEiS] TMA|L
1 ™S Q=

2 7+,

3 CHE =,

4 e

88  [NOT APPLICABLE]

98  <DON'T KNOW>

99 <REFUSED>

M [MISSING]

mjn

=L

A0 OlA 10 & Z[efo| F=X|2f7} o, x| of X[ 7} 10 0|2+ H, FBke| F=X|o|of A &

ds FAIASUI?

(READ RESPONSE OPTIONS ONLY IF NECESSARY)

AN H

EEEEEE

O©COoONOOOPR,WN-

10 - | 19| F=X| 2|

88
98
99
M

[NOT APPLICABLE]
<DON'T KNOW>
<REFUSED>
[MISSING]
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Q19

Q20

A FAiolet O TR st Sek FHO} Al oI 7
e

Z+t7 QI XMo| YOfL} Xp=

AW N -
S
0> 4r Db
AT -

0%

88  [NOT APPLICABLE]
98  <DON'T KNOW>
99  <REFUSED>

M [MISSING]

K|k 7 &7 FX|QI7F M HAL A AR O| EE= 7|Ef AALE X|A|S HO| UGS L2
(READ RESPONSE OPTIONS ONLY IF NECESSARY)
1 o

2 oL [GO TO Q22]

88  [NOT APPLICABLE]
98  <DON'TKNOW> [GO TO Q22]
99  <REFUSED> [GO TO Q22]
M

[MISSING]

|

Ral
-
=
40
N

il
r

P X9 7) doll HAf, A2 0] £ T[EF HAE X[AIME W, FX|2
=roto] O Z21FE FobH HET M2 E0tLt A3 JAJASLIN? HE S

2|
AMAIL.

I e

-
r
-

0

rHo
M L o

x
Jm %

rx
Q ot ot

0jo

Al
@
>

=
AI

A W N =~ 0O
AN/
0> 4r oF &t

0%

88  [NOT APPLICABLE]
98  <DON'T KNOW>
99  <REFUSED>

M  [MISSING]
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Q22

Q23

X6 7HE 2t FX| Q|7 LM HAL AAY 0] EE= 7|EF HALE XA S O, HR
AE oM M2 AntLt XpE JAJ}ES L2 TS T SHLHE MEISH FHUA 2.
1 M5 82,

2 78,

3 &=,

4 25

88  [NOT APPLICABLE]
98  <DON'T KNOW>
99 <REFUSED>

M [MISSING]

X|he 77t MEter2 S85HA MOl JqSL 2
(READ RESPONSE OPTIONS ONLY IF NECESSARY)
1 ol

2 oL & [GO TO Q24]

88  [NOT APPLICABLE]

98  <DON'T KNOW> [GO TO Q24]
99  <REFUSED> [GO TO Q24]
M [MISSING]

X6 2 E2t 285t B & Mo 2o FX[2|eF HOofLt Xt3= O[0F7|E
L= M &L 7?2 s S ofLHE MEISH A2,
5 8l HA|:|,

t&
f

!

A WON -
!

==
T,
A

-

0Ot

o

88 [NOT APPLICABLE]
98  <DON'T KNOW>
99 <REFUSED>

M [MISSING]
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Q24 X[the7f &7t o F O|Mo| o|F MH|A XNSKUAM ZEE EHAHLLSHS
9|2 MH|AE O|25H3d &L

(READ RESPONSE OPTIONS ONLY IF NECESSARY)

1 o

2 oL [GO TO Q27]

rot
o
=l
k=)
0
1o

88  [NOT APPLICABLE]
98 <DONTKNOW> [GO TO Q27]
99  <REFUSED> [GO TO Q27]
M [MISSING]

Q25 X|he7f 7 2H7| CHE M SARt o2 AMH|AE o 2R E 22 [Iff FX[o HH9|
E20| QAL XMO| QL7
(READ RESPONSE OPTIONS ONLY IF NECESSARY)
1 o

2 otL| & [GO TO Q27]

88 [NOT APPLICABLE]
98 <DON'T KNOW> [GO TO Q27]

99  <REFUSED> [GO TO Q27]
M [MISSING]

Q26 XA|te/ifEt 27| OHE MSAR o|lz MH|AE Sl Tl & &a If FX|2
HAUCERH IR0t 22 HONSLIIN? ChE & otLE MEHS] FAHA R
1 e g,
2 o= Ek &3,
3 OfL[2

88 [NOT APPLICABLE]
98 <DON'T KNOW>
99 <REFUSED>

M [MISSING]
O|M ©E22|0H &= o|= AH|A0 2oto] AEEC|AELICHL HOPAM CHHe 2 EE= M3t
Y S22 o4l MH|AE ZBSFHAIR

15



Q27 TEZo(AHHZIAE)E 21f AL, AEHE QAL L2 27| oA, m|£ 1t o|AF &
X| 20| ot 2O0FE MELE St 1 2| 2ALE ZretL Ch F5te| FX| o=
ME oY L7t
(READ RESPONSE OPTIONS ONLY IF NECESSARY)
10
2 oLl |

98 <DON'T KNOW>
99 <REFUSED>
M [MISSING]

[PROGRAMMING SPECIFICATIONS: IF THE RESPONSE TO Q27 IS “1 — YES” THE
FOLLOWING TEXT SHOULD BE DISPLAYED BEFORE Q28: ™ 22|0j ztst ofzf & &

M #otel X2l E HEe] FHUAIR)

Q28 A6/ MEL 2lZ ME[AE Of|erotal HO| A L2

>t
HU
M
o
i
rx
Mo
|0
Hu
on

(PROBE IF NEEDED: “M 29| +& 3l SHefLCh 1 o[ ARt

2ot A5 L 77t?7)

(READ RESPONSE OPTIONS ONLY IF NECESSARY)

1 of

2 OtL| & [GO TO Q33]
98 <DONTKNOW> [GO TO Q33]
99  <REFUSED> [GO TO Q33]
M [MISSING]

Q29 XKt e/fEt WEL| olg MH|AVFEHeS [If HZ Of| 2FSHA MOl HofLt Xp==
UARSLII? L3 S SHLHE MEISH FHAL.
1 M3 g2,

2 718,
3 O£ &,
4 ot

88  [NOT APPLICABLE]
98  <DON'T KNOW>
99  <REFUSED>

M [MISSING]
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Q30 AltesiEzt & o ME20A dEHE M5t
(READ RESPONSE OPTIONS ONLY IF NECESSARY)

0 = [GO TO Q33]
1 13

2 23

3 33

4 43

5 5% 0|4

88  [NOT APPLICABLE]

98 <DONTKNOW> [GO TO Q33]
99  <REFUSED> [GO TO Q33]
M [MISSING]

Q31 X[t e/i&E 7HE A dEE g2l HEQE E/FHAIL. 00|M 10 & X2
HMEo[7t o, £[1o] ME2[7t 100[=tH, oiE =22l R d= FAIASUIN?
(READ RESPONSE OPTIONS ONLY IF NECESSARY)

0-Z|oto| T 29|

o= T IV NI=]

O©CoOoO~NOOOPA~,WN -

88 [NOT APPLICABLE]
98 <DON'T KNOW>
99 <REFUSED>

M [MISSING]

[PROGRAMMING SPECIFICATIONS:

e |F Q111S ASSIGNED ANSWER “2 - NO” Q32 SHOULD BE SKIPPED. THE NEXT
APPROPRIATE ITEM IS THE INTRO TEXT ABOVE Q33. CODE Q32 AS “88 - NOT
APPLICABLE”

e |F Q12 IS ASSIGNED ANSWER “0 - NONE” Q32 SHOULD BE SKIPPED. THE
NEXT APPROPRIATE ITEM IS THE INTRO TEXT ABOVE Q33. CODE Q32 AS “88
- NOT APPLICABLE"]

17



Q32

X6 707 HSPAAM B4l HEo| o|= MH| A0 25l H3te| F=X[e|7F &
20 ZAM HEE SK[HCh o 7| A B2 HofLp Xt JUJSLIN? CHE 5
SHLIE MEo) AL

1 3] gla,

2 718,

3 gRE

4 S,

7 Z=X|o|7t MEOY [FILE SPECIFICATION CODE 7]

88  [NOT APPLICABLE]
98  <DON'T KNOW>
99  <REFUSED>

M [MISSING]

O[X| Hote|l A4 ST0| 2oty 2 =2 T

Q33

Q34

X't 6 HEZH Foto) 21 HHAL D MH|A HYN YRR HEL E8S
I:Il-OAl I-lol IAL_ljjl-f)
(READ RESPONSE OPTIONS ONLY IF NECESSARY)

1 oo
2 oL [GO TO Q36]

98 <DONTKNOW> [GO TO Q36]
99  <REFUSED> [GO TO Q36]
M [MISSING]

Pl
A
=
{0
\

|-5|.o| 7—{7I- E°‘|A|' 1 7ZH

6 7H &7t M MH[A HYAACZRE HRot HELL
22 Yo Mo| ot Xt JJUS L2 CHS B StLHE MEiS] FHAL
1 T4 BlE,
2 718,
3 O 22,
4 et

88 [NOT APPLICABLE]
98 <DON'T KNOW>
99 <REFUSED>

M [MISSING]
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Q35 X|te7fEH7H Hote A HEAL 04 MH[A BHEE O] ofe] A1 SESHA SOt
HO| HOfLE XtF JAJ}ES L2 CHS T SHLHE MEISH FUA 2.
1 Mo 8lg,
2 75
3 22,
4 et

88  [NOT APPLICABLE]
98  <DON'T KNOW>
99  <REFUSED>

M [MISSING]

Q36 ALH67HEZ Bt UL ZMORHE FHA0| TR AL HO A Ho| YL|T
(READ RESPONSE OPTIONS ONLY IF NECESSARY)

1 o
2 ofL|Q [GO TO Q38]

98  <DON'TKNOW> [GO TO Q38]
99  <REFUSED> [GO TO Q38]
M [MISSING]

Q37 Xk e/MEIE ot HiY EUHEZRH Yol MA 0| 25| 4| HE Ho| HotLt X
UAJYS N2 ChZ S StLE MEISH FHAIL,
1 M5 22,
2 7|-IZI,
3 &2,
4 2R

88  [NOT APPLICABLE]
98  <DON'T KNOW>
99  <REFUSED>

M [MISSING]
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Q38

Q39

X0 O 10 T 2| 4 ETO| 0, |19 744 ETO| 10 0|2tH, F5te] AL
SHO| H HZ2 FAIASLIIN?

(READ RESPONSE OPTIONS ONLY IF NECESSARY)
0- |0|-o| 7-|7+ 4—'—EH

1

2

3

4

5

6

7

8

9

10- 20| A7 EH

98 <DON'T KNOW>
99 <REFUSED>

M [MISSING]

W0l QI YRI0|LE HAS WE T O SN LfAOf PE SFYLICh X

67§27t Fotel 71 BN 7Y EX(DEY 5)8 0/R2 AW0|S Lh2|ACtD X2/
O Y&LIT? CHS B SHLHE MeEfsf F4A

X~

~

1

2

3 II-EE
4 I 0|7t Y F,

5 A8 X7t g2,

6 CHE Ol 72 ZL[0] 2I5HE Mol =

98 <DON'T KNOW>
99 <REFUSED>
M [MISSING]
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o/

Hin
~O
Rl

N

X0

PH 22t s == H|2fot

-
(]

Ol 72 7

=
=

o,

ot 2,

2

o

KU

ZFYES

rt2 o

<DON'T KNOW>
<REFUSED>
[MISSING]

98
99
M

O F{otoi 2toto] ZE =2 &L .

=t of

A

ol

215t L7t Chg & otLE

A SE7F OOt A2

s

]

HH = o2 3}

Q41

A2,

<1

ol

-

<0

3

o_n
Kio

oF

oo
Ko

o0
o Zo
H T

<DON'T KNOW>
<REFUSED>
[MISSING]

98
99
M

E7F Lt 2 5h L 77k? Bh5

At
o

L

0

Z

H

M=oz H3tol

Q42

ol

<0

4

ojn
Ko
ok

O

o_n
Kio

<DON'T KNOW>
<REFUSED>
[MISSING]

98

99

M
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Q43

Q44

Q45

Hotel 7o =2 AHESHA = 20l= FAYLINN? LS & otLE MY
FHAlL.

do,

A4 1o,

=0,

ot=01,

ErZ210,

HEEHO £=

7|Et A0f [PROGRAMMING SPECIFICATION: IF Q12 IS ASSIGNED ANSWER

“7 — SOME OTHER LANGUAGE” INTERVIEWER MUST ENTER
NAME OF OTHER LANGUAGE ]

~N OO o B~ 0N -

98 <DON'T KNOW>
99 <REFUSED>
M [MISSING]

X674k oFF Ol HRO| LRSH HO| A L2
(READ RESPONSE OPTIONS ONLY IF NECESSARY)
1 oo

2 oL

98  <DON'T KNOW>
99  <REFUSED>
M [MISSING]

Xt e 70 =7k of A7 Mot o[ FE S A FOfsH Ho| HofLt Xt JAJAS U2 CHS
SHLIE MEHS) Z=AIA|Q.

M5 el HAI:I,

Ja
==}

f

!

HI

0Ot

6 7l &t QAL A eF S MY 2 HO| Bl

aa b~ WO N -
[
mC or Hr

>

98  <DON'T KNOW>
99  <REFUSED>
M [MISSING]
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Q46 MYGH|EQ LR E= WAS REHS= EH0| 7SS LI

(READ RESPONSE OPTIONS ONLY IF NECESSARY)

1 ol
2 otL| e
3 nE

99  <REFUSED>
M [MISSING]

Q47 X6/t 4= 7t M0 MY =X H7|SHAL ZXE &KX 24 HO|
A2
(READ RESPONSE OPTIONS ONLY IF NECESSARY)
1 o
2 otL| &
3 XeZhEt oA A 2 X2 MOl gl
98 <DON'T KNOW>

99 <REFUSED>
M  [MISSING]

Q48 X670 EE FoPHM ME|AE 2 22|, Sed = Tea X0 g €2

_ —
Ol 72 7ot =& "ot Lt FAE5HA Hieh {o| ALt

a. A4 AEf IE L7k
(READ RESPONSE OPTIONS ONLY IF NECESSARY)
1 o
2 oL &

98  <DON'T KNOW>
99  <REFUSED>
M [MISSING]
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(READ ONLY IF NECESSARY: x|t 6 7H 2 7t FSPH M MHE[AE 22 224, 352
E= TlEa X U0| CHE1t 242 0|/ 2 F{5HE £S5 HotAHLE F4185HA thet Ho|

ARG IH?..)
b. ZHOf 2 QI L|7}?
(READ RESPONSE OPTIONS ONLY IF NECESSARY)
1 o
2 otL| &2

98  <DON'T KNOW>
99  <REFUSED>
M [MISSING]

(READ ONLY IF NECESSARY: X| =t 6 7 E 7 #OPAM MH|AE 22 22|H, 354
= dEa X0 g1t 22 0| R 2 15HE E3HotAL F4185HA tist HO|
AXELITH?..)

c. Hotel gE WEZ AL 7t?
(READ RESPONSE OPTIONS ONLY IF NECESSARY)
1 o
2 oL e

98  <DON'T KNOW>
99  <REFUSED>
M [MISSING]

(READ ONLY IF NECESSARY: x|t 6 7 & 2t HBPH A MH[AE & =, 3
= TEa XJU0| CHE1 22 Ol /2 F5E S35 Eot AL FAE5HA gt HO|
AL I2...)

d. H3te| 23t E= S MEZ A2
(READ RESPONSE OPTIONS ONLY IF NECESSARY)
1 o

2 OtL| 2

98 <DON'T KNOW>
99 <REFUSED>
M [MISSING]
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(READ ONLY IF NECESSARY: x|t 6 7H 2 7t FSPH M MHE[AE 22 224, 352
E=TEA RJA0| 20t 22 0|/ E H5IE 55 EotAHL F4185HA tist 0|

UASLTH2..)
e. H3te| 0| L= LM 2 L7}
(READ RESPONSE OPTIONS ONLY IF NECESSARY)
1 o

2 OotL| &

98  <DON'T KNOW>
99  <REFUSED>
M [MISSING]

(READ ONLY IF NECESSARY: X| =t 6 7| EZF #3PAM MH|AF 22 22|YH, 354
= dEa X0 g1t 22 0| R 2 15HE E3HotAL F4185HA st KOl
UAELIT..)

f. Hote| 91F L= IS 2L 7t?
(READ RESPONSE OPTIONS ONLY IF NECESSARY)
1 o

2 otL| 2

98  <DON'T KNOW>
99  <REFUSED>
M [MISSING]

(READ ONLY IF NECESSARY: X| -t 6 7 2t HSHH A MH[AE & =
= dEA X0 21 22 O|]R 2 FSHE £S5 HotALL FA4E5HA st HO|
ASLIIH2...)

g. Hotel ¥ (Fd = o) & LI7t?
(READ RESPONSE OPTIONS ONLY IF NECESSARY)
1 o
2 ofL| R

98 <DON'T KNOW>
99 <REFUSED>
M [MISSING]
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(READ ONLY IF NECESSARY: x|t 6 7H 2 7t FSPH M MHE[AE 22 224, 352
E=TEA RJA0| 20t 22 0|/ E H5IE 55 EotAHL F4185HA tist 0|

AEL7H?...)
h. Hotel 8N X[k -2 LL|7}?
(READ RESPONSE OPTIONS ONLY IF NECESSARY)
1 o

2 otL| &2

98  <DON'T KNOW>
99  <REFUSED>
M [MISSING]

(READ ONLY IF NECESSARY: X| =t 6 7 E 7 #OPAM MH|AE 22 22|H, 354
= dEa X0 g1t 22 0| R 2 15HE E3HotAL F4185HA tist HO|
AXELITH?..)

i ot MO e g EAE WE LIt
(READ RESPONSE OPTIONS ONLY IF NECESSARY)
1 o
2 ofL|e

98  <DON'T KNOW>
99  <REFUSED>
M [MISSING]

(READ ONLY IF NECESSARY: x|t 6 7 2t HBPH A MH[AE & =
= dEA X0 21 22 O|]R 2 FSHE £S5 HotALL FA4E5HA st HO|
ASL| T2, )

jo Totel =Y LIt
(READ RESPONSE OPTIONS ONLY IF NECESSARY)
1 o
2 ofL|

98 <DON'T KNOW>
99 <REFUSED>
M [MISSING]
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O[AMZ} CHE 0t 22 7 AE{2tn TIEHSE 0| QS L 7H?
A EOH|

(READ RESPONSE OPTIONS ONLY IF NECESSARY)

1 o

2 oL|a

98 <DON'T KNOW>
99 <REFUSED>
M [MISSING]

(READ ONLY IF NECESSARY: 2|At7t L1t 22 48 B2l TIthet X 0| AL 7H?)
AHS Ee s AYES

(READ RESPONSE OPTIONS ONLY IF NECESSARY)

1 o

2 otL| 2

98 <DON'T KNOW>
99 <REFUSED>
M [MISSING]

-

(READ ONLY IF NECESSARY:2|At7} Craut 22 A4 AFEf2t 2 TIEFSH HO| /IS L{7H?)
nk=-h

(READ RESPONSE OPTIONS ONLY IF NECESSARY)

o

ofL| e

N =

98 <DON'T KNOW>
99 <REFUSED>
M [MISSING]

(READ ONLY IF NECESSARY: A7} CHE 0t 22 AL A
o242 A els

(READ RESPONSE OPTIONS ONLY IF NECESSARY)

1 of

2 ofL| R

m
=
u
&
r

il

o

Ja

&)
30
>
r
=
=

98  <DON'T KNOW>
99  <REFUSED>
M [MISSING]
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Q50

Q51

-

(READ ONLY IF NECESSARY:2|At7} Craut 22 A4 AFEf2t 2 TIEFSH HO| /S5 L{7t?)
H7|E, MA, COPD(THY A m| &St

(READ RESPONSE OPTIONS ONLY IF NECESSARY)

1 o

2 ofL| R

98 <DON'T KNOW>
99 <REFUSED>
M [MISSING]

-

(READ ONLY IF NECESSARY:2|At7t Ctait &2 A8 SEf2tal TRt K O] U L{7H?)
SR8 Y, 0dd

(READ RESPONSE OPTIONS ONLY IF NECESSARY)

1 oo

2 ot

98 <DON'T KNOW>
99 <REFUSED>
M [MISSING]

AALL A EHE REE= O o235t 0 20| Y24 L7k
(READ RESPONSE OPTIONS ONLY IF NECESSARY)
1 o

2 oL e

98 <DON'T KNOW>
99 <REFUSED>

M [MISSING]

22 YHLU 582 ot& O {2 20| A2 L7t?
(READ RESPONSE OPTIONS ONLY IF NECESSARY)
1 of

2 oL|a

98 <DON'T KNOW>
99 <REFUSED>
M [MISSING]
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Q52

Q53

Q54

Q55

MHH, S, MY SH WZ0f 2t YE0|Lt 28 & 28X &S5 ot=

1, O L- "1, O o o

oSS 40 Yo MLt?
(READ RESPONSE OPTIONS ONLY IF NECESSARY)
1 o

2 otL| 2

98 <DON'T KNOW>
99 <REFUSED>
M [MISSING]

2023'H 78 1Y 0|22 EZ O HFALE oM XO| JUE L7t
(READ RESPONSE OPTIONS ONLY IF NECESSARY)

1 o

2 oL|a
3 ==

99 <REFUSED>
M [MISSING]

H & 0| 24T ALE o H 0| & SO M & L|7? (READ THE FOLLOWING ONLY IF
NECESSARY) E& 20| &= & Stol, =z o FARl= CHEL O T3+
HiAlol2tn e gfLCt,

(READ RESPONSE OPTIONS ONLY IF NECESSARY)

1 o
2 oL R
3 ==

99  <REFUSED>
M [MISSING]

Sl 7tE e e S S St LI, OFL B S SEX| Ry L{7h?

= =5 -2

(READ RESPONSE OPTIONS ONLY IF NECESSARY)

1 O
2 7B
3 & ot 3 [GO TO Q57]
4 (=1 [GO TO Q57]
99  <REFUSED> [GO TO Q57]

M [MISSING]
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[PROGRAMMING SPECIFICATIONS: IF Q7 IS ASSIGNED ANSWER “0 - NONE” Q56
SHOULD BE SKIPPED. THE NEXT APPROPRIATE ITEM IS Q57. CODE Q56 AS “88 -
NOT APPLICABLE"]

Q56 Alhe /07 QAL EEE 7|EF o| & MH[A M SV EHIE B22t AT MO
SOfLt Ak A/[S LI CHE S otLEE dES) FHAL..

< o
e SIE,

’t&,

f

s

=]
o,

2w N -
[
0x I

oot

88 [NOT APPLICABLE]
98 <DON'T KNOW>
99 <REFUSED>

M [MISSING]

Q57 Fote| 2F H2 O{EA =YL

EA| st o,

98  <DON'T KNOW>
99  <REFUSED>
M [MISSING]

Q58 O|AIjH E= 2tE| 0|y L 7?
(READ RESPONSE OPTIONS ONLY IF NECESSARY)

1 of, S|A0fY E£= 2HE[ =¥
2 OfL| K, 5| AI{H &= 2tE[ =7t O

98 <DON'T KNOW>
99 <REFUSED>
M [MISSING]
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Q59 Cfg 3 flote| eIES HUEH= 8371 AW ZH FHAR. XM= CHA 7HK| 32
C

SAlL.
B A0{E40F HLCE Z4 HE0f 0 E= OtL|R'2 EHRSIFHAL. F5t=...

<PLEASE NOTE THAT RESPONDENTS MAY CHOOSE MORE THAN ONE RACE>

a. Hote 0|7 JAF0 Es A7t FFULL 72
(READ RESPONSE OPTIONS ONLY IF NECESSARY)
1 o

2

oL

98  <DON'T KNOW>
99  <REFUSED>
M [MISSING]

b. F|5k= OtA[OHRI L L] 77k?
(READ RESPONSE OPTIONS ONLY IF NECESSARY)
of

2 otL

98  <DON'T KNOW>
99  <REFUSED>
M [MISSING]

c. Hote 50 EE= ot=Z2|ZHA O|= QY L7}t
(READ RESPONSE OPTIONS ONLY IF NECESSARY)
1 o
2 oLl |

98  <DON'T KNOW>
99  <REFUSED>
M [MISSING]

d. Hot= 5teto] AFR E= 7|EF EfE Y M = QI IL{7t?
(READ RESPONSE OPTIONS ONLY IF NECESSARY)
o
2 ot

98 <DON'T KNOW>
99 <REFUSED>
M [MISSING]
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e. BHOIQIL|7t?

Q60

Q61

Q62

(READ RESPONSE OPTIONS ONLY IF NECESSARY)
1 ol
2 otL| 8

98 <DON'T KNOW>
99 <REFUSED>

M [MISSING]

il HolE =&t & HO| SH A0 AN L7 CHS & SILEE MEiS) FAMA|L.
1 13

2 2~3 3

3 4 F O| A

98  <DON'T KNOW>
99  <REFUSED>
M [MISSING]

780 M QB S AL S L2
(READ RESPONSE OPTIONS ONLY IF NECESSARY)

1 of
2 oL 2

98  <DON'T KNOW>
99  <REFUSED>
M [MISSING]

Medicare Z21240| {57} Z2 4l | & MH| A0 23510] XtA|S| YOotEAHLE 2|2
MH|A 2 FH0) tiot 18 EE0|L 2B RO HSHE XRO4SH7| /s LSS0 HErS
EHE ER? 02 5 SHLHE MEIS] FHA|2.

1 o

2 ofL| R

98  <DON'T KNOW>

99  <REFUSED>
M [MISSING]

<THIS QUESTION TO BE COMPLETED BY THE INTERVIEWER>
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Q63

Q64

<DID SOMEONE HELP THE ENROLLEE COMPLETE THE SURVEY?>

1 YES
2 NO

[GO TO END]

98  <DON'T KNOW>
M [MISSING]

<THIS QUESTION TO BE COMPLETED BY THE INTERVIEWER. PLEASE MARK

ONE OR MORE.>

[PROGRAMMING SPECIFICATIONS: THE CATI SYSTEM SHOULD BE PROGRAMMED
TO ALLOW THE INTERVIEWER TO SELECT MULTIPLE RESPONSES ]

<HOW DID THAT PERSON HELP THE ENROLLEE COMPLETE THE SURVEY?>

<READ THE QUESTIONS TO THE ENROLLEE>

1
2

88
98
M

YES
NO

[NOT APPLICABLE]
<DON'T KNOW>
[MISSING]

<RELAYED THE ANSWERS THE ENROLLEE GAVE TO THE
INTERVIEWER>

1
2

88
98
M

YES
NO

[NOT APPLICABLE]
<DON'T KNOW>
[MISSING]

<ANSWERED THE QUESTIONS FOR THE ENROLLEE>

1
2

88
98
M

YES
NO

[NOT APPLICABLE]
<DON'T KNOW>
[MISSING]

<TRANSLATED THE QUESTIONS INTO THE ENROLLEE’S LANGUAGE>

1
2

88
98
M

YES
NO

[NOT APPLICABLE]

<DON'T KNOW>
[MISSING]
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<HELPED IN SOME OTHER WAY>
1 YES
2 NO

88  [NOT APPLICABLE]
98 <DON'T KNOW>
M [MISSING]

[END]O| 422 HES Ot Ot ELICH 2% AHFO HAoiFM ZAr LI
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